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Order

#orderID: Date CarryOut

#content: List<OrderItem> —

#amount: int -

+CarryOut(List<OrderItem>)

#setOrder(Date, List<OrderItem>): void +toString(): String Product OrderItem

-itemAmount(): int -name: ProductName -item: Product

+toString(): St \ ~price: int -quantity: int

- Product(ProductNane. int) 1 t0rder [tem(Product, int)
Delivery sgetNane(): ProductName +getProdu§t(): Product
InStore -DEFAULT_MIN_FREE_SHIPPING: int tgetPrice(): int tgetQuantity(): int
- -DEFAULT_SHIPPING_FEE: int #setProduct (Product): void tsetltem(Product, int): void

~DEFAULT_SERVICE_RATE: double -minfreeShipping: int +toString(): String +toString(): String

-serviceRate: double ~shippingFee: int

+InStore(List<OrderItem>) +Delivery(List<OrderItem>)

+InStore(List<OrderItem>, double) +Delivery(List<OrderItem>, int, int)

+toString(): String +toString(): String
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OrderItem o0ill = new OrderItem(new Product(ProductName. A, 100), 1);

OrderItem 0122
OrderItem 0133
List<Orderltem> oi
oi.add(oill); oi.add(0i22);

(o]0)
(o]0)

new CarryOut(oi);
new Delivery(oi);

new OrderItem(new Product(ProductName.B, 80), 2);
new OrderItem(new Product(ProductName.C, 60), 3);
new ArrayList<OrderItem>();
oi.add(0i33);

Order oo = new InStore(oi, 0.1);

System.out.println(oo);
System.out.println(oo);
System.out.println(oo);
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Sat Oct 28
A
B
C

Sat Oct 28
A
B
C

Sat Oct 28
A
B
C

13:58:24 (ST 2017
$100 * 1
$80 * 2
$60 * 3

13:58:24 CST 2017
$100 * 1
$80 * 2
$60 * 3

13:58:24 CST 2017
$100 * 1
$80 * 2
$60 * 3

amount: 484 (InStore service fee: 44)

amount: 440 (CarryOut)

amount: 520 (Delivery: 89)
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---» Thread 1, run 1
---» Thread 1, run 2
---% Thread 1, run 3
---» Thread 1, run 4
---» Thread 2, run 1
---» Thread 1, run 5
---» Thread 1, run &
---» Thread 1, run 7
---» Thread 2, run 2
-==3» Thread 1, run &
---» Thread 2, run 3
Maximum value come from Thread 1 is 9.9
---% Thread 2, run 4
---» Thread 2, run 5
=== Thread 2, run ﬂ
===» Thread 2, run 7
===» Thread 2, run 8
-==» Thread 2, run 9
Maximum value come from Thread 2 is 9.0
The maximum value in text file is 9.9
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